CDS -1 2025 MATHEMATICS SAMPLE QUESTION PAPER WITH ANSWER

Time: 120 min.

M.M.:100

INSTRUCTION: Read guestions carefully. For each wrong answer, one-third (0.33) of the marks assigned to that

question will be deducted. Each question contains (1) marks / 5= @I 717 ¥ Ye. b Toid S¥ @ [of7 W 97 &

forv [FefiRa sial & & va fasTs (0.33) 3i# ®Ie ST I3i® 999 7 (1) 3ip &

1.

Consider the following statements :/ F=ferRaa 8.
Pl R IR B

(1) The value of cos 61° + sin 29° cannot exceed

1/ cos 61° + sin 29° &1 99 1 ¥ 3ifSed =81 &l

Hhdr

(2) The value of tan 23° - cot 67° is less than 0./

tan 23° - cot 67° HT 99 0 I BH 2 |
Which of the above statements is\are correct?/
STRIH HAAT H I I AT T8l 87
(a) 1 only/ @ad 1
(b) 2 only/ ®aa 2
(c) Both 1 and 2/1 3iR 2 I
(d) Neither 1 nor 2/ 7 1 1 3R 9 8 2
If 0 <o, B <90° such that cos (. — ) = 1, then
what is sin o.— sin B + cos o — cos B equal to?/ Ife
0<a,B<90°sF UbR & cos (a—P)=1,d Sina
—sin B + cos o — cos B frad =R 87
(@-1 (b) O
(1 (d) 2
If cosec O —sin O = 03 and sec O —cos 0 = q3, then
what is the value of tan 02/ Ife cosec § —sin § =
p 3R sec O — cos @ = g’dar tan O & A RIT 27
(@2 (b) 2

q P
(c) pq (d) p*q?
If cos47° + sin 47° = k, then what is the value of
c0S2 47° —sin2 47°2/af& cos47° + sin 47° = k, I
c0S2 47° — sin2 47° &1 H1H T &7

(@) k\/; (b) -k\/;
(c) k\/&

What is the least value of 9 sin®8 + 16 cos?6?/ 9
sin?0 + 16 cos?0 &1 =JAdH A9 T 87

(@0 ()9

(c) 16 (d) 25

If sin B + cos 6 = /2, then what is

sin®0 + cos®B + 6 sin?0 cos?0 equal to?/ If If

9.

sin 6 + cos B = /2.4 sin®0 + cos®O + 11.
6 sin’0 cos?0 frad TREN 27
(@) 2 ()3
4 4
()1 (d) 2

What is the maximum value of 3 sin 0-4?/
3 sin 0-4 &7 AferHaH AF R 8?

(a) -4 (b) -1

©0 (d)1

(d) -kVI 1-k? 10.

12.

Consider the following statements:/ f=ferRad
Al R fIOR B

1. The equation 2 sin?6- cos 6 + 4 = 0 is possible
for all 6./ THHRT 2 sin®0-cosO +4 =0 1 0
% fog Eva 2|

2. tan 6 + cot B cannot be less than 2, where
0<e<§/ tan O + cot® 2 A HH el &1 Wb,
SE0<BH <=

which of the above statements is/are correct?/
STRIH HUHE H DI A/ FE BB

(a) 1 only/ a1

(b) 2 only/ ®aa 2

(c)Bothland2 /1 3iR 2 g1

(d) Neither 1 nor 2/ 1 1 1 3iR 9 &1 2

Consider the following statements:/ f=faRad
Al R IR B

1l.sin®=x+ i is possible for some real value of

x./xfﬁwaﬁﬂﬁ’cﬁﬂﬁiﬁmsin6=x+iﬁﬂ?{
2|

2.cos6=x+ i is possible for some real value of
X/ X & ®©% dRdfdd A1 & IV cos O = x +
13a )

Which of the above statements is/are correct?/
IRH B H W B9 A1 /W 9El g /87

(a) 1 only/ ®aa 1

(b) 2 only / daa 2

(c)Both1and 2 /1 3iR 2 Tl

(d) Neither 1 nor 2/ 1 1 1 3R 9 &1 2

ABC is a triangle inscribed in a semicircle of
diameter AB. What is cos (A + B) + sin (A +
B) equal to?/ ABC U& f3y< & i AB &1 &
arefg # 3ifdbd 81 cos (A + B) + sin (A +
B)fdd a_TER 27

(2) 0 (b)7

(c)4 d1

If cosec O + sec® = k, then what is the value of
sin®0-tan?0 ?/ afe cosec B +secO =k, I
sin®0-tan®0 &1 J9 /T 87

(a) 4-k (b) 4-k?

(c) k?-4 (d) k% +2

If cosec O-sin 6 -m secB-cos O = n, then what is
m% n§ + equal to?/ af

. 4 2
cosec O-sin B -msecB-cosB = n, dl m - n;+

frdad RER 87
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13.

14.

15.

16.

17.

18.

19.

20.

21.

()0
(c) mn
What is the value of sin®6° + sin®12° +

sin%18° +....+sin?84° + sin%?90°?/ sin?6° +
sin?12° + sin?18° +....4+sin?84° + sin%90° &1
HHE /T 87

(@)1 (b) 2

(c) 4 (d) 8

A rectangle is 48 cm long and 14 cm wide. If the
diagonal makes an angle 6 with the longer side,
then what is (sec 8 + cos e c0) equal to?/ & 3mId
48 ¥ <91 3R 14 I drer 7 | Ife fAwol &t o

(b) 1

P AT O PIoT g9dr 8, df (sec O + cos e ch) 24.

CaSCENENET]
775 725

(@ — (b) —

é"%‘ *SE
7 3
(€ (d) =
sinB-cos6+1 sin6+1
What is -
Sim6+cos6-T cos 0o

0- B+1 sin6+1 Erya
sin 0- cos sin 27
SimO+cos6-1 cos6
(b)1

()0
(c) 2sin@ (d) 2 cos©

equal to?/

What is (tanx + tany)(1 - cotx X coty) + 25,

(cotx + coty)(1 -tanx tany) equal to?/
(tanx + tany)(1 - cotx X coty) + (cotx +
coty)(1 -tanx tany)fbasd a=Ex 27

@2~0 (b) 1

(c)2 (d) 4

What is ’sec X-tan x equal to,?/ ’sec X-tan X

\J SecCX Y SeC X+1tan X

26.

1 1
SINX+COS X fanX+CcotX

() 5 (d) S

If 6 lies in the first quadrant and cot 6 = f_:, then
what is the value of (sin 8 + cos8)?/ If& 0 uH
agetter # Rerd & ok cot® = 228 <t (sin 6 +
c0s 0) & AF RIT 87
@1

(©2

What is the value of
1-2 sin® Bcos? 0
—_—
@ao (b) 1

(c)2 (d)5

What is the least value of (25 cosec?x + sec?x)?/
(25 cosec?x + sec?x) &1 A9 HIF RT 87

(a) 40 (b) 36

(c) 26 (d) 24

(b) 2
(d) 2

1-2 sin? Ocos? 9
stm+®+cos*

+4 equal to?/

Let0 <0 <90°and 1006 = 90°. Ifa = II°°, 29.

cotn®, then which one of the following is correct?/
A ol 0 < 6 < 90°3fR 100 0 = 90°. af
a= I1°° conf d frT & & &9 w1 ¥l @

(@a=1 (b)a=0

(d) m?n? 22.

23.

+4Eﬁrﬂmﬁm—$w%? 28.

(c)a>1 do<a<i1

If tan 60 = cot26, where 0 < 66 < g then what
is the value of sec 40 ?/ afg 60 = cot28, &
0< 66<Eatsec4ezmm—rrw%?

(@) V2 (b) 2

Q= (d) 5

What is - 58 4 1 oqual to'?/ cosd !
SI]’%U Ccorto Fsin® cotuo

(a) cosech (b) secH

(c) secB® + cosec 8 (d) cosec B-cot 9

The number 2 Xx 3 x5 x 7 x 11+ 1 is/ =01
2X3x5x7x11+1 2

(a) A prime number/Ts Mg &1

(b) Not a prime, but power of a prime/ts ™SI
eI, gfed TP Mo Bl °1d

(c) Not a power of a prime, but a composite even
number /T TSI &1 b1 del, dfed Uh A3 wH
e

(d) Not a power of a prime, but a composite odd
number/T® M &1 =1d F8l, dfed Tah [AlBE
fawm g

If m is the number of prime numbers between 0
and 50; and n is the number of prime numbers
between 50 and 100, then what is (m-n) equal to?/
IfE m 0 3R 50 & 99 JTT IR B IAT B
3R n 50 3R 100 & I TS RN B G 8,
dl (m-n) fFad sRER 22

(a) 4 (b) 5

(c) 6 (d) 7

Which one of the following is the largest divisor of
3% 4+ 3**+1 4 3%+2 if x is any natural number?/
91 5 9 & w1 3% 4 3%+ 4 3XH2 g7 e 9T
Hod 8, Ifd X BIs UThiad AT 87

@3 (b) 13

(c) 39 (d) 117

The number of three-digit numbers (all digits are
different) which are divisible by 7 and also
divisible by 7 on reversing the order of the digits,
is/ T 3l aTell RTRA (A 3fh AT T—3TelT &)
PTG S 7 9 faursa & 3R i & B Bl
Joled R 9 7 ¥ fursy €

(a) Six/ BE (b) Five/ df=

(c) Four/ @R (d) Three/ =

If the sum of the digits of a number (10)"-1
where n is a natural number, is equal to 3798, then
what is the value of n ?/ afe fo=dl S (10)"-1,
ST8l n U UThiad AT 8, @ 3idbl &I I 3798 &
RER &, 9l n BT 79 A&7 87

(a) 421 (b) 422

(c) 423 (d) 424

Let XYZ be a 3-digit number. LetS = XYZ +
YZX + ZXY. Which of the following statements
is/are correct?/ | fSTT XYZ Ush 3 3l dretl
[T B | AF AfiY S = XYZ + YZX + ZXY ®|
ferefefRad & 9 & a1 o 9l 8 /87
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30.

31.

32.

33.

34.

35.

36.

I. Sis always divisibleby3and (X + Y + Z)/ S
UM 3 R (X + Y + 2)% favrsy rar @

1. S is always divisible by 9/ S &931 9 ¥ fIr
BIaT ©

I11. S is always divisible by 37/ S g%em 37 9
faTsg BIaT B |

Select the correct answer using the code given
below:/ 1 AU U BTs &1 STANT P ol ST

Eu

(@) 1 only/ &dd 1 (b) 3only/ &ad 3
(c)land 2/1 3R 2 (d) 1 and 3/1 3R 3
If m and n are positive integers such that m" =

1331, then what is the value of (m-1)*'?/ Ifd m
3R n W grHS guiis 8 fb m® = 13318, @
(m-1)™'%1 49 F/I1 8?7

(@1 (b) 100

(c) 121 (d) 125

(x"-a") is divisible by (x-a), where x # a, for
every/ (x"-a")(x-a) ¥ fa9sg &, 8T X # a UAP
% forg

(a) Natural number n/ Urfiae =T n

(b) Even natural number n only/ &dd H Wdhiad
HET n

(c) odd natural number n only/ ®ae favH drefas
HE n

(d) Prime number n only/ %dd 34T<d &1 n
What is the remainder when the sum 1° + 2° +
35 + 45 + 5% is divided by 4?2/ 9 3T 1° + 25 +

3% +4° + 5° @l 4 9 fod far S &,
ATHA R BIT?

@o (b) 1

(c)? (d)3

What is the digit the unit place of 3°° 2/ 3%° @1
SPIs WA P AT 3ih 27

@1 (b) 3

(7 (d)9

If the number 23P62971335 is divisible by the
smallest, odd composite number, then what is the
value of P?/ 3fe dvaar 23P62971335 Had BICI,
faws g w9 favrsg 8, a1 P &1 719 T 87
()4 (b) 5

(c) 6 (d) 7

If 1 = a% + b? + c?, where a and b are consecutive
integers and ¢ = ab, then 1 is/afe 1 =a® + b% +
c®wigfa 3ikb HarTd g € M c=ab dr | 2
(a) An even number and it is not a square of an
integer/vd AH AT 9T U8 fHsi qouife @1 o
el &

(b) An odd number and it is not a square of an
integer/vd v <iven dorm I8 fa=fl gorfe &1 at
BRE

(c) Square of an even integer/ &9 Yuiie &I a7

(d) Square of an odd integer/ ¥\ gories &1 a7
The number of different solutions of the equation
X+ v+ 2z =12, whereeachofx,yandzisa
positive integer, is/ THIHT X + v + z =

37.

38.

39.

40.

41.

42.

12 58l x,y 9z ¥ ¥ UAP U &P YUl 2,
P fAf = &l @l = ©

(a) 53 (b) 54

(c) 55 (d) 56

The number of (a, b, ¢), where a, b, c are positive
integers such that abc = 30, is/ (a, b, ¢), @1 ¥,
S8t a, b, ¢ &FTcHd Yunis & W9 fhabc=30%

(a) 30 (b) 27

(c) 27 (d) 8

If A, =P, + 1, where P, is the product of the first
n prime numbers, then consider the following
statements:/ I A, =P, +1 S&f P, € U8l n
TS RT3 BT [OEH, df =faRad deHl IR
R &%

1. A, is always a composite number./ A, 92T UdH
AT AT Bl B |

2. A, + 2 is always an even number./ A, + 2 B9
U 9 T Bl 2 |

3. A, +1isalways an even number./ A, + 1 8931
TP I9 A= Bl 2

Which of the above statements is/are correct?/
ITRIh HUHEl H A DIF A/ 9El 2 /8

(@) 1 only/ &ad 1

(b) 2 only/ ®aa 2

(c) 3only/ @ad 3

(d) 2 and 3 only/ ®ad 2 3R 3

Let d(n) denote the number of positive divisors of
a positive integer n. Which of the following are
correct?/ I9 SifSv d(n) U® &P YUl n &
gD TISTh] B AT Bl q9niar = | f=forRaa #
A BT AT B! BES?

1.d(5) = dd1)

2.d(5).d(11) = d(55)

3.d(5) + d(11) = d(55)

Select the correct answer using the code given
below:/ S AT T Prs &1 ST RSP Tl SR
T

() 1 and 3 only/ ®aa 1 3R 3

(b) 1 and 2 only/ @ddt 1 3R 2

(c) 2 and 3 only/ ®a«t 2 3R 3

(d)1,2and 3/1, 2 3R 3

The sum of all possible products taken two at a
time out of the numbers *1,%2,%3,%4, "5 is/

weereit *1,%2,73,%4, 754 9 e 9r # @1 fog

T ) GuIfad SaTel BT AT ©
(@0 (b) -30
(c) -55 (d) 55

If 172929 js divided by 18, then what is the
remainder?/ afe 172%°20 31 18 3 forfora fan
SITaT 8, o1 Y T B

()1 (b) 2

(c) 16 (d) 17

1-x-x" 4+ x™*1, where n is a natural number, is
divisible by/ 1-x-x" + x"*1 &8l n t& UiHfdad
T B, | favrsa @
(@) (1 + x)?

(c) 1-2x-x2

(b) (1-x)?
(d) 1 + 2x-x>
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43.

44,

45.

46.

47.

48.

49.

Two unequal pairs of numbers satisfy the 50.

following conditions:/ X3l & T 3THH SIS
f=forRad ordi & 9RT A &

I. The product of the two numbers in each pair is
2160/ U S ¥ a1 GRmsl &1 qUE%h 2160 ©
I1. The HCF of the two numbers in each pair is 12./

ISP Sirs ¥ 3T Gxareli &1 HCF 12 2| 51

If x_is the mean of the numbers in the first pair and
y is the mean of the numbers in the second pair,
then what is the mean of x and y ?/ afg x 9gd
SIS &1 AR BT AT 8 3R y TR SIS Bl
TRl BT AT B, Al x 3iR y BT A R 8?7

(a) 60 (b) 72

()75 (d) 78 52.
A number divides 12288, 28200 and 44333 so as
to leave the same remainder in each case. What is
that number ?/ T% wwear 12288, 28200 3R 44333
Pl 30 TPR AIford &l 8 b ude Aol |
T Y 99T 8 | 98 AT R 87 £3
(a) 272 (b) 232 '
(c) 221 (d) 120
What is the least perfect square which is divisible
by 3, 4,5, 6 and 7?/ 98 &I BIl Yof a9 T 8 ST
3, 4, 5, 6 3R 7 9 fawrsy 87
(a) 1764 (b) 17640
(c) 44100 (d) 176400
LCM of two numbers is 28 times their HCF. The
sum of the HCF and the LCM is 1740. If one of 54.
these numbers is 240, then what is the other
number?/ g1 =3t &1 LCM S9a HCF @1 28
@1 21 HCF 3R LCM @71 3T 1740 2 | afe =%
 UP RAT 240 T, Al SRR AT R®IT 87
(a) 420 (b) 640
(c) 820 (d) 1040
If x™ = 14\J x+/X+/X, then what is the value of m?/
Hﬁxm=14VXJX—JZ§ﬁmWHW®T§?
(@)= (b) =
o 4
OE (d) >
4 4
What is the value of
I S R sp ——
1+VZ VZFV3 V3IT+V4 VI9 + V10U
1 1 1
A R E ——+——+———+ -+
T+V2 VZF+V3 V3+Va
1
A
(@)1 (b) 5
©9 (d) 10 56.

Which one of the following is the largest number
among 22222, 22272, 22222 22222 9] f=faRad
H W iAW WA 22222, 22222, 22222 22222
q HIH 99w 27
(a) 22272

(c) 22222

(b) 22222,
(d) 22222

If 5¥+1.5%1 = 600, then what is the value of

102%?/ gfg 5¥+1.5%1 = 600 2, dr 10%* &1 94
ERil

(@il (b) 1000

(c) 100000 (d) 1000000
What is al -+ al = equal to ?/ al -+
al = frae aRER &7

(@1 (b) -1

(€0 (d) 2a™™

If x =+/2, v = 3v/3 and z = 616 ,then which one
of the following is correct?/ aife x = v/2,yv = 3v3
ql z = 663, O B 3 A b 91 g8 27

QY <x<z bz<x<y

RQz< y <x Adx<y <z

If the points P and Q represent real numbers 0.73
and 0.56 on the number line, then what is the
distance between P and Q ?/ afe fdg P @erm Q

YT YW1 R aRdfde | 0.73 o1 0.56 €3 ©,
TP T Q & g &l X AT BY?
(@)= (b) =

[8] 5]
(c) =2 (d) =

45 9U
The number of items in a booklet is N. in the first
year there is an increase of x% in this number and
in the subsequent year there is a decrease of x%.
At the end of the two years, what will be the
number of items in the booklet?/ & gR<d®wr & Fai
P = N 2] U8l 99 7 S99 A x% B gfg
BT & AT 3Tt a9 H x% P1 HH Bl & | &l a8
P 3id ¥, gRder d a%gal & e w®ar grf?
(a) Less than N/N &1 &5
(b) Equal to N/ N & sRTeR
(c) More than N/N 31 a1fdras
(d) It depends on the value of N/&IE N & Hog W
forR v 2
If a television set is sold at Rs. x, a loss of 28%
would be incurred. If television is sold at y Rs, a
profit of 12% would be incurred. What is t1he ratio
of y to x?/ Ife te <chifdwid Ie x SR H =1 SIren
g, a1 28% @ '1f4 Brft | afe Sefifae= y vo |
9T ST &, 1 12% T o 8T | y 3R X Bl

U T 57
(a)41:9 (b)31:9
(c)23:9 (d)14:9

The price of an article X increases by 20% every
year and price of article Y increases by 10% every
year. In the year 2010, the price of article X was
Rs. 5000 and price of article Y was Rs. 2000. In
which year the difference in their prices exceeded
Rs. 5000 for the first time?/ f=il 9 X &1 @HEd
H & A 20% @ gfg Bl & 3R avq Y Bl P
# & A 10% @ gfg =il 81 99 2010 H, 9% X
P HFT 5000 BT AT MR a& Y BT HIEd 2000
I oft | foodd 99 S+ HIHal § 3} gl dR
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57.

58.

59.

60.

61.

62.

63.

5000 T & 31frh gAT?

(a) 2012 (b) 2013

(c) 2014 (d) 2015

If the annual income of x is 20% more than that of

Y, then the income of Y is less than that of X by 64.

p%. what is the value of p?/ afe x @1 arff® M Y
P AT H 20% 3MfSF B, A Y B 3T X B oA
H p% PHH B | p BT A RIT 87

(a) 10 (b) 16§
(c) 173 (d) 20
The length of a rectangle is increased by 10% and

breadth is decreased by 10%. Then the area of the 65.

new rectangle is/ & 3mad &1 ars 10% 938
STl ® 3R drsre 10% ©crE Wl 2 | a1 AV 3md
BT &ABA o

(a) Neither increased nor decreased / @I 9gT 3iR
= 8 "er

(b) Increased by 1%/1% 931

(c) Decreased by 1%/1% =<1

(d) Decreased by 10%/ 10% =c1

A shopkeeper sells his articles at their cost price
but uses a faculty balance which reads 1000 gm for
800 gm. What is the actual profit percentage?/ T
THMER 3T RGN Bl SHD! AT Hed IR gl

2 oIl U heboc! 9o BT SUIRT BT & Sl 66.

1000 UTH BT 800 UM WX few@rdr © | Indfdd o™
uferd &= 27

(a) 20% (b) 25%

(c) 30% (d) 40%

A person sold an article for Rs. 75 which cost him
Rs. x. He finds that he realised x% profit on his
outlay. What is x equal to?/ v& =1fks 1 T axq 75
S H 99 el drTd x S0 off | S99 ur b
SN U T R x% T B3| X fbdad aRIeR 8
(a) 20%
(c) 50% (d) 100%

The simple interest on a certain sum is one-fourth
of the sum. If the number of years and the rate of
annual interest are numerically equal, then the
number of years is/ fr Af¥ad ¥ ) AR
o1 S NI BT Th—arenE B | afe gul @ ww=dr
IR IIf¥p o1 B ¥ IATHD wU I )R o, d
quf &) G B

(a) 2.5 (b) 3

(c)3.5 (d)5

A sum was put at simple interest at certain rate for
2 years. Had it been put at 1% higher rate of
interest, it would have fetched Rs. 24 more. What
is the sum?/ fa=dt =1f3r &7 2 auf & forw fAf¥ad &)
TR AERY &6 R @1 7| e 39 1% 31fda
ST &R WX IET 1T, @ 39 W 24 B9 Iffdd
fiyerer | <af3r @y 87

(a) Rs.500 (b) Rs.600

(c) Rs.800 (d) Rs.1200

By increasing the speed of his car by 15 km/hr, a
person covers a distance of 300 km by taking an
hour less than before. What was the original speed
of the car?/ 3=l &R &I T 15 fHHl / Hel dera,

(b) 25% 67.

68.

69.

U FRH U8l B o1 | Udh Hel BH I99 H 300
o & X TT BRAT B | DR DI HoA Tfy qar of?
(a) 45 km/hr (b) 50 km/hr

(c) 60 km/hr (d) 75 km/hr

A train of length 110 m is moving at a uniform
speed of 132 km/hr. The time required to cross a
bridge of length 165 m is/110 Hiex odrs drefl U
29 132 i /Her & ThaHH 1 I od B R |
165 HIex oidTs ITdd Jel &l IR R H ¥ drell
Nupl

(a) 6.5 seconds (b) 7 seconds

(c) 7.5 seconds (d) 8.5 seconds

X, Y and Z travel from the same place with uniform
speeds 4 km/hr, 5 km/hr and 6 km/hr respectively.
Y starts 2 hours after X. How long after Y must Z
start in order that they overtake X at the same
instant?/ X,Y 3R ZU® & 9 | B 4

foH it /€, 5 foH /Eer @R 6 fhH /der &l
UG T A I R 21 Y, X & 2 ©HS 919
T I Bl 2 1Z BT Y & fbhds 99 918 Ioi
% HRAT AT d1fs 9 U 81 9ol | X | 1
e Sv?

(a) % hours

(b) § hours

(c) 3 hours (d) % hours
When a ball is allowed to fall, the time-it takes to
fall any distance varies as the square root of the
distance and it takes 4 seconds to fall 78.40 m.
How long would it take to fall 122.50 m?/ Sig
foosft i &1 Re fear Srar 8, a1 fasdt +ff <0 9@
RT § o a1l 999 <1 & dFHd @ AR
gaoldl YBdl & 3R 78.40 Hiex FRT # 4 WS ofrd
21 122,50 HicY IRA # foha= HHg oFIT?

(a) 5 seconds (b) 5.5 seconds

(c) 6 seconds (d) 6.5 seconds

A car did a journey in t hours. Had the average
speed been x km/h greater, the journey would have
taken y hours less. How long was the journey?/ T
HR At G H A @@ | Afe i T x

foel / ger a1fdr BIh, @ I § y 'S BH I |
I H fhaer g o m?

(a) x(t-y)ty (b) x(t-y)ty™

(c) x(t-y)th? (d) x(t + Yty

A bicycle wheel makes 5000 revolutions in
moving 11 km. What is the radius of the wheel?
(Assume n = 22/7) /vd Arsfbd &1 afzam 11
fof ge= H 5000 TdBR SIET § | Uy B B
RIE? @F < n = 22/7)

(a) 17.5cm (b) 35 cm

(c) 70 cm (d) 140 cm

A train takes two hours less for a journey of 300
km if its speed is increased by 5 km/hr from is
usual speed. What is its usual speed?/ aife fa=it
YSMTST B Ty SHB A= 7T 9 5 fbHl /ger
el <1 SIU df S 300 fHH &1 Im=1 # &l 86 &H
oA B | 39 = T T 87

(a) 50 km/hr (b) 40 km/hr

(c) 35 km/hr (d) 25 km/hr
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70.

71.

72.

73.

74.

75.

76.

A wheel makes 360 revolutions in one minute.
What is the number of radians it turns in one
second?/ s Ufdr Us e | 360 ddHR T B |

TP AHhs H I8 fhaw MfeI= goar 87

(a) 4n (b) 61

(c) 12n (d) 16

In covering a certain distance, the average speeds
of X and Y are in the ratio 4 : 5. If X takes 45
minutes more than Y to reach the destination, then
what is the time taken by Y to reach the
destination?/ Te f¥ad &1 d &1 H, X IR Y
P 3iad T 4: 59 aurd § 2| afe X Bl Tias
TP Uz H Y ¥ 45 e o1fe o €, @1 Y &t
Tded I Ugdd ¥ fhdaT 9T o II?

(a) 135 minutes (b) 150 minutes

(c) 180 minutes (d) 225 minutes

If x men working x hours per day can do x units of
works in x days, then y men working y hours per
day in y days would be able to do Kk units of work.
What is the value of k?/ afg x o9 ufafes x &
BT PP X fol § X SPhIs BRI R Idhd 8, dl y
goy ufifed y oAl § y 6 &M axa Kk sdh1s drd
PR UG | k &1 99 /T 8

(@) x*x73 (b) x3x72

(c) y*x3 (d) y3x2

In a water tank there are two outlets. It takes 20
minutes to empty the tank if both the outlets are
opened. If the first outlet is opened, the tank is
emptied in 30 minutes. What is the time taken to
empty the tank by second outlet?/ T Gl &I Sdl
H gI 3fScelc & | Afe Ml 3mscele Wid fau oird
Tl SHl Bl Wrell 84 H 20 e oa € 1 Ife ugan
JM3cele @I fedr 90 dl Sl 30 fAFe & w@rel &l
ST 2 | ¥R 38T §RT Sl Bl @rell o |
fopd= T g T?

(a) 30 minutes (b) 40 minutes

(c) 50 minutes (d) 60 minutes

If 6 men and 8 women can do a piece of work in
10 days; and 13 men and 24 women can do the
same work in 4 days, then what is the ratio of daily
work done by a man to that of a woman?/ I 6
Toy 3R 8 Afea’ i &M &l 10 9 d§ & Iahd
g 3R 13 JoY 3IR 24 AN S B &l 4 faF |
P Fhd B, dl Uh gy gNI fhu U e & &1
U% Al §RT 4T T B ¥ U FT 27
@2:1 (b)1:2

(c)4:3 (d)3:4

Mahesh is 60 years old. Ram is 5 years younger to
Mahesh and 4 years eldest to Raju. Babu is a
younger brother of Raju and he is 6 years younger.
What is the age difference between Mahesh and
Babu?/ 9231 & MY 60 dY B | XMH 7RI I 5 99
BIeT 3R IS A 4 99 g7 8 | 979 IIS[ BT Bl TS
2 3R 98 SOY 6 99 ©ieT & | 929 3R 919 b 9=
MY BT AR T 87

(a) 18 years (b) 15 years

(c) 14 years (d) 11 years

Ena was born 4 years after her parents marriage.
Her mother is 3 years younger than her father and

77.

78.

79.

80.

81.

24 years older than Ena, who is 13 years old. At
what age did Ena’s father get married?/ U1 &1

S P AT BT ATl & 4 99 918 831 o7 |
IH! 7 Sd fUdr W 3 A B § 3R UAT ¥ 24
AT g1 8, S 13 ATl Bl 8| U1 & fIar &1 ome)
fra 57 H g3 o7

(a) 25 years (b) 24 years

(c) 23 years (d) 22 years

If x varies as y, then which of the following is/are
correct?/ I x, y & 3MUR deardr &, dI 9 § 9
P AT/ T B /B

1. x* + y? varies as x? —
AR daodl &

2. yi varies inversely as y/ yi VB AR

FIEHHIUT dEaTdl &
3. ny/x?y varies as 2n,/x*y?/ n /x?%y, 2n,/x*y? &

AR deedl &

Select the correct answer using the code given
below:/ ™ AT T Prs &1 STIRT RSP Tl SR
T

(a) 1 and 2 only/ Pad 1 3R 2

(b) 2 and 3 only/ ®aa 2 3R 3

(c) 3only/ @aet 3

(d)1,2and 3/1, 2 3R 3

Three persons start a business with capitals.in the

ratlo —:=:=. The first person withdraws half his

capltal after 4 months. What is his share of profit if
the business fetches an annual profit of Rs.
96,800?/?11?@‘%5%:%:% S U § Yol @
1T Uh AT I PR & | Ugall Afh 4 T8I
9IS U= 3N Yol Tl ofdr & | afe e 9
96,800 TTIA BT dIf¥s oA™Y BIAT &, AT A H SHHT
e wm 2?

(a) Rs. 32,000 (b) Rs. 34,500

(c) Rs. 36,000 (d) Rs. 36,800

If x varies as yz, then y varies inversely as/ afe x,
yz & ITAR 9o B, A y, FhHudl W 9
EEGGIR

(a) xz (b)’—z‘

OF (d) —

X xXZ)

The ratio of speeds of x and Y is 5: 6. If Y allows
X astart of 70 min a 1.2 km race, then who will
win the race and by what distance?/ x 3R Y &I
T BT U 5 : 6 81 XY 1.2 fi @1 <1 & X
BT 70 HIex BT BT <l &, Al als BT S
IR fpa 0 A7

() X wins the race by 30 m/ X Ss 30 Hlex 9
Sfiear 8

(b) Y wins the race by 90 m/ Y EIs 90 Hiex &
Siiear &

(c) Y wins the race by 130 m/ Y gIs 130 Hiex &
Sfiear 8

(d) The race finishes in a dead heat/ drs sRTERI TR
T Bl &

The population of two villages is 1525 and 2600
respectively. If the ratio of male to female

vix2 +y24x?—v2 D
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82.

83.

84.

85.

86.

population in the first village is 27 : 34 and the
ratio of male to female population in the second
village is 6 : 7, then what is the ratio of male to
female population of these two villages taken
together?/ <1 TTTai &) SIH<ReT HHI: 1525 3iR 2600
21 afe ggel g § oy 3R Gfeer SERiRar &
IUTT 27:34 & 3R TR T § Yo 3R Afelr
SR 6T 31U 6:7 8, Al 39 1 Tial &l gy
IR AT SERT BT 3UId T 27

@% ()2
@ (d)2
If%=§,g=2,§=%,g=3and%= i,thenwhat
isthevalueof%?/uﬁ%=§ ,§=2,§—%.§—

3aiR =18 ar 22 o e g 27

T 4 aer
(a) (b) 2
(c)2 (E=
The mean weight of 100 students in a class is 46
kg. The mean weight of boys is 50 kg and that of
girls is 40 kg. The number of boys exceeds the
number of girls by/te &eT H 100 BTET BT FIRTd
qoT 46 fheliumd B | sl P 3T Ioi9 50
fheium 3R oTsfeal &1 40 fheliumd 8 | Tsai &I
T TSfhdl B G ¥ D B
(a) 10 (b) 15
(c) 20 (d) 25
In a class room the ratio of number of girls to that
of boys is 3 : 4. The average height of students in
the class is 4.6 feet. If the average height of the of
the boys in the class is 4.8 feet, then what is the
average height of the girls in the class?/ & e #
TSP B TERT BT ASh! DI AT | U 3:4
2| P&l H ©IEl B Ed ST 4.6 BT © | Il Pl
T TPl Bl 3NId ST 4.8 B B, oI P &
Tsfhdl @1 Nd Sars &7 87
(a) Less than 4.2 feet/4.2 ®ic I &1
(b) More than 4.2 feet but less than 4.3 feet/4.2 wic
3 3ffdd oifbd 4.3 BIc I BH
(c) More than 4.3 feet but less than 4.4 feet/4.3 wie
3 31fdd oifhd 4.4 B I BH
(d) More than 4.4 feet but less than 4.5 feet/4.4 ®ic
3 3ffSd oifbd 4.5 BIc T BH
If the roots of the quadratic equation
x%-4x-log;o N = 0 are real, then what is the
minimum value of N?/ afe fgemd
AT x%-4x-log; o N = 0 B oI ardfdsd & al N
BT =gAdH T T 27
(a) 1 (b)—

(c) — (d) —

100U 1000
If 634X 4%-5 = 8 (Given log,, 2 = 0.301 and
log,n 3 = 0.477), then which one of the following
is correct?/ afe 63-4% 4%5 = g (fear T ®
log.o 2 = 0.301 921 logyy 3 = 0.477), 1 fr= |
 BIF AT A &7
@Qo<x<l1

M1<x<?2

87.

88.

89.

90.

91.

92.

93.

94.

95.

)2<x<3 d3<x<4
How many digits are there in (54)*° ? (Given that
log,,2 = 0.301 and log,,3 = 0.477)/ (54)1°#
fraq @i 8?2 (I8 <gd 8V & log 02 = 0.301 3R
1091n3 = 04‘77)
(a) 16 (b) 18
(c) 19 (d) 27
If log x_= 1.2500 and y = x'°8%, then what is log y
equal to? /afe x = 1.2500 iR y = x!°8* &y log y
frdad ReR 87
(a) 4.2500 (b) 2.5625
(c) 1.5625 (d) 1.2500
x3 + x% + 16 is exactly divisible by x, where x is a
positive integer. The number of all such possible
values of x is/ x3 + x% + 16 , x ¥ goia: faarsy g,
SRl X TP 99D QUi & | X & U 1 arfad
qEl @Y G B
(a) 3 (b) 4
(€)5 (d)6
What is the square root of 4x* + 8x3-4x + 17/
4x* + 8x3-4x + 1%1 I RIT 87
(a) 2x2-2x-1 (b) 2x%-x-1
(€)2x2 +2x+1 (d) 2x% + 2x-1
If (x + k) is the HCF of x®> 4+ 5x + 6 and x* +
8x + 15, then what is the value of k?2/-afg (x + k)
x> +5x+6 2R x%+8x+ 15 &1 HCF &, @ k
BT A RIT 27
(@5 (b) 3
(c)2 (d1
What are the values of p and q respectively, if
(x-1) and (x + 2) divide the polynomial x3 +
4x% + px + q?/ I (x-1) 3R (x+2) 8IS
x3 + 4x® + px + q DI fIRIT w=xa &, a1 B p
3Rq & A9 T B?
(@1,-6 (b) 2,-6
(c)1,6 (d) 2,6
If f(x)is divided by (x-a)(x-B)where
a_# B, then what is the remainder? /afg f(x)®r1
(x-a)(x-B) ¥ faurfora fovar &y, oigf a # B,
IATHA T BIIT?
@ (x-a)f(a)-(x-B)f(B)

a-b

(b) (x-a)f(B:-t(sx-B)f(a)

(©) (x-B)f(a)-(x-a)f(B)

a-b

(d) (x-B)f(B;I)-tEx-a)f(a)

If (x8 + X—ls) = 47, what is the value of

(xS +2) =2 AR (x° + ) =47 (x6 + ) =
A R 87

(a) 36

(c) 18

If (x2-1) is a factor of
ax* + bx3 + cx? + dx + e, Then which one of the

following is correct?/ afe (x%-1) &1 Udh OGS &

(b) 27
(d)9
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96.

97.

98.

99.

100.

ax* +bx] +cx? +dx+ed A A BT AT
NEEL

(da+b+c=d+e
(Ma+b+e=c+d
()b +c+d=a+e

(da+c+e=b+d

The HCF and LCM of two polynomials are 3x + 1
and 30x3 + 7x2-10x-3 respectively. If one
polynomial is 6x? + 5x + 1, then what is the other
polynomial?/ s 9g8ucl &1 HCF 3k LCM HHm:
3x + 131k 30x3 4+ 7x%-10x-3 2| Ife U sgug
6x% +5x+ 1 &, O TART 9895 T &7

(@) 15x% + 4x + 3 (b) 15x2 + 4x-3

(c) 15x%-4x + 3 (d) 15x%-4x-3

What is the HCF of the polynomials x°-3x* +
3x2-1 and x3-3x% + 3x-1 ?/ 98ug x°-3x* +
3x2-13iR x3-3x2 + 3x-1 &1 HCF @1 87

(a) (x+ 1)m (b) (x + 1)

) x*+1 (d) (x+1)3

The Euclidean algorithm is used to calculate
the/IfFIfSTa TIReH &1 SUR—IIT 0T BR1 & forw
ERIESIGIE

(a) Square root of an integer/ f= guries &1 T
(b) Cube root of an integer/ f&=0 quries &1 T=5A
(c) Square of an integer/ f=A goris &1 I

(d) HCF of two integers/ &1 qurisi &1 HCF

A 60-page book has n lines per page. If the number
of lines were reduced by 3 in each page, the
number of pages would have to be increased by 10
to give the same writing space. What is the value
of n?/ 60 TSI aTell Y% H Ui U n GRHAT = |
I AP IS § URKAT BT G&AT 3 HH B ol O,
I oG XIH 39 b U Ui &1 Gvar # 10
P gfg w1 BN | n BT A R B?

(a) 18 (b) 21

(c) 24 (d) 30

A two-digit number is 9 more than four times of
the number obtained by interchanging its digits. If
the product of digits in the two-digit number is 8,
then what is the number?/ <1 3idi @ Udh Hw=,
ISP 3(pl BT AT H g8 TR U O $ AR
TH A 9 3P B | AT |7 3B drell AT H bl Bl
UMD 8 B, Ol a8 AT T 87

(a) 81 (b) 42

(c) 24 (d) 18
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Deﬁncemurum

CDS -1 2025 MATHEMATICS SAMPLE QUESTION PAPER

ANSWER SHEET
L [ A [20L] A4 [ A [6L] D8] D
2 | B |22 | A |4 | B |62 | D |8 | C
3 | B | 2. | B |4 | B |63 | C |8 | C
4 | A |2 | A [ 4 | C [ 64| C |8 | C
5. | B | 2. | B | 4 | C |6 | B |8 | D
6. | D | 2. | C | 4. | A |66 | A | 8 | B
7. | B | 2t. | C | 4. | A | 6. | B | 8. | B
8. | B | 28 | B |48 | C |68 | B |8 | C
9. | D | 2. | D [ 4. | A |69 | D |8 | C
0. | D [ 3. | B |50 | D [ 70| Cc |9 | D
.| B | 3L | A |5L | B |7 | C |9 | B
12| B |3 | B |5 | B |72 | D% | A
3| D |3 | C |5 | A7 ]| Do | C
4. | A |3 | A |56 | A |74 ] A |9 | C
5. | A | 3 | D |5 | D |7 | B |9 | D
6. | A | 3. | C | 5. | B | 76 | C | 9% | D
7. | C |3 | B | 5] B | 72. | D |9 | D
8. | C |3 | D |58 | C |78 | A |9 | D
9. | D | 3. | B [ 5. | B |79 C |9 | B
20| B | 4. | C |60 | C |80 | C [100] A
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